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Question Number : 1 Question Id : 146587551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
has its origins in the hills of Kanker district’s Bhanupratappur tehsil.
Options :
1465872201. * Kharun River
1465872202. * Jonk River
1465872203. ¥ Tandula River
1465872204. * Shivnath River

Question Number : 1 Question Id : 146587551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BT IGH HihR ford Bt HIIATIR dedidl &1 Ugifsal § g3 ]|

Options :

1465872201, % WS At
1465872202, % Wi At
1465872203. ¢ qigal -Ig!



1465872204, % TGy 7Y

Question Number : 2 Question Id : 146587552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Bhilai Steel Plant is situated in district of Chhattisgarh as on August 1, 2021.
Options :

1465872205. * Kanker

1465872206. * Baloda Bazaar

1465872207. * Gariaband

1465872208. ¥ Durg

Question Number : 2 Question Id : 146587552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

| 3T, 2021 T U BRI o AR, FUATE ST HIF STNIG b fora & A g
Options :

1465872205, % Hihx

1465872206. * ST TSR

1465872207. % TRATEG

1465872208. ¢ Tl

Question Number : 3 Question Id : 146587553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Kalchuri kings considered themselves

Options :

1465872209. * Brahmans
1465872210. * Vishyas
1465872211. ¥ Rajputs
1465872212. # Sudras



Question Number : 3 Question Id : 146587553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SRENNEIRSPE| O U
Options :

1465872209. % SR

1465872210. # I

1465872211, ¢ oYd

1465872212, # T[&

Question Number : 4 Question Id : 146587554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In 1854, the British Government declared Chhattisgarh a separate Commissionery with its headquarters at:
Options :

1465872213. # Surajpur

1465872214. # Bilaspur

1465872215. # Bijapur

1465872216. ¥ Raipur

Question Number : 4 Question Id : 146587554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1854 H, fofewr R 7 BTG DI T QT & 1Y 3T DHeeR] v fobam ol
Options :

1465872213, % YRR

1465872214, % faa QR

1465872215, % WISTYR

1465872216. ¢ IY



Question Number : 5 Question Id : 146587555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following was hanged to death by the British on 10 December 1857 after he had formed an army of 500 men in Sonakhan to
fight the British army?

Options :

1465872217. ¥ Vir Narain Singh
1465872218. # Hanuman Singh
1465872219. % Babu Chhotelal Srivastava
1465872220. # Pandit Madhavrao Sapre

Question Number : 5 Question Id : 146587555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

99 I fhd Sl 7 10 fediaR 1857 W iR <t oY, forem fafew O 9 @18+ & o I=mam | 500 Sefiat ot 391 o915 e
Options :

1465872217, ¢ dR ART0 Rig

1465872218. % gqaM g

1465872219. ¥ §Iq Blcard dldrdd

1465872220. # UfSd HIYARId IU

Question Number : 6 Question Id : 146587556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Name the Chalukya king who initiated the festival of Bastar Dussehra.
Options :

1465872221. ¥ Purushottam Dev

1465872222. # Kapilendra Dev

1465872223, # Pratap Rudra Dev

1465872224, # Hamvir Dev

Question Number : 6 Question Id : 146587556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Y AT ST BT A0 TSy, fSg1H TR GET AR DI 3T B T
Options :

1465872221, ¥ J¥UTH ¢d
1465872222, % HUdig ad

1465872223, % UdIU ¥¢ ad

1465872224, % BHAR a4

Question Number : 7 Question Id : 146587557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which district of Chhattisgarh is the Rahas dance primarily performed during festivals?
Options :

1465872225. ¥ Durg

1465872226. * Balod

1465872227. ®# Kanker

1465872228. ¥ Dhamtari

Question Number : 7 Question Id : 146587557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BURATG & o fo7el BRI & SR T8 U 3 89 7 8idl 62
Options :

1465872225, ® gl

1465872226, % SIAIG

1465872227, % Hidx

1465872228, ¢ YL

Question Number : 8 Question Id : 146587558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

The Chhattisgarh folk dance form which marks the end of rainy season and advent of the spring is called:
Options :

1465872229. # Saila dance

1465872230. * Kaksar dance

1465872231. ¥ Karma dance

1465872232. # Rahas dance

Question Number : 8 Question Id : 146587558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
, BUIG B I8 A oI Aaht 3, S auf g & 31 3R 97 Fd P AT B Uliep |
Options :
1465872229, % JdT I
1465872230. # hh IR T
1465872231. ¥ HIHT I

1465872232, % g T

Question Number : 9 Question Id : 146587559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which festival do the people of Chhattisgarh hang strings of neem leaves on their door to ward off various kinds of diseases?
Options :

1465872233, # Navakhana

1465872234. ¥ Hareli

1465872235, # Madai

1465872236. * Pola

Question Number : 9 Question Id : 146587559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST & anT fpg AigR H fafis TR & I § s34 & AT 3/ grame W 19 & Uil &) SR dcapid 82




Options :

1465872233, % @M
1465872234, ¢ Bt
1465872235, % HSs
1465872236. % TOidl

Question Number : 10 Question Id : 146587560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which folk dance of Chhattisgarh is accompanied by the singing of a 'Doha'?
Options :

1465872237. % Sonha Bihan

1465872238, # Kari

1465872239. ¥ Raut Nacha

1465872240. # Gammatiha

Question Number : 10 Question Id : 146587560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

STATTG BT DI 1 b T CIRT A & 1Y Bl 82
Options :

1465872237. % gl f[agM

1465872238. % @t

1465872239, + 3 AT

1465872240, % THTIgT

Question Number : 11 Question Id : 146587561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Governor of a state has the discretion to reserve some bills passed by the state legislature for the assent of the
Options :



1465872241. # Prime Minister

1465872242. ¥ President of India

1465872243. # Chief Minister

1465872244, # Chief Justice of the Supreme court

Question Number : 11 Question Id : 146587561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fohaft *TT & ITUTe o U 1Y fAuHed gR1 uild $o fadasd! &1 &1 Tgafd & fore QR Ta- &1 fadeeR grar g |

Options :

1465872241, % QU TAT
1465872242, ¢ HRd & AFUfd
1465872243, % AT

1465872244, % I=AqH <UIATY & G YRATHIRT

Question Number : 12 Question Id : 146587562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a district organisation structure of Chhattisgarh state, apart from Tehsildar, who among the following directly reports to the Deputy Collector?
Options :

1465872245. # Nayab Nazir

1465872246. # Vasil

1465872247. % Kanungo

1465872248. ¥ Nayab Tahsildar

Question Number : 12 Question Id : 146587562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BTG I D1 T TTo YT H, TETAER & 3faral 378 F DI g ST daaex (Deputy Collector) BT RUIE HaT 82

Options :
1465872245, % A1gd AIOR




1465872246. % ARIA (Vasil)

1465872247, % BTN

1465872248. ¢ 0d dgUIIaR

Question Number : 13 Question Id : 146587563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the Chhattisgarh state, who is the Returning Officer for elections to Parliamentary and Vidhan Sabha Constituencies?
Options :

1465872249. ¥ Governor of the state

1465872250. # Chief Justice of the High Court

1465872251, ¥ District Collector

1465872252. % Superintendent of Police

Question Number : 13 Question Id : 146587563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG IT |, T 3R fem qur frafem &=t & gamat & forg Aot eifert (Ref siffther) 1 grar 82
Options :

1465872249. % [T o ITUTA

1465872250. % I ATATeTd b XA AT

1465872251, ¢ TIQll dhaldex

1465872252, % Uferg e

Question Number : 14 Question Id : 146587564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The state government shall make grant-in-aid to the Panchayats as may be decided on the basis of recommendations of the
Options :

1465872253. ¥ State Finance Commission

1465872254. # Sarpanch



1465872255. # District Collector
1465872256. # Chief Judicial Magistrate

Question Number : 14 Question Id : 146587564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

RTsd IR Ul o e Fgradn srgar AfHd sl s & R & 3y R FRuffka far s gear |
Options :

1465872253, + IoT fad SMANT

1465872254, % IR

1465872255, % TSIcl halaex

o\

1465872256. % T TRID ARRCC

Question Number : 15 Question Id : 146587565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh grows 6% of total produced in the country.
Options :

1465872257. # maize

1465872258. ¥ papaya

1465872259. # tomato

1465872260. # brinjal

Question Number : 15 Question Id : 146587565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

<X ¥ Idrfed o BT 6% TUTG | ST ST B |
Options :

1465872257, % Hadb

1465872258, ¢ TUId

1465872259, % THICR




1465872260. % ST

Question Number : 16 Question Id : 146587566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh is on the position in India for inland fish production.
Options :

1465872261. * first

1465872262. * fourth

1465872263. ¥ sixth

1465872264. * seventh

Question Number : 16 Question Id : 146587566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ey Al IdeH & HHA § BTURATE HT HRA H gl
Options :

1465872261. % Ugdl

1465872262, % AT

1465872263. ¥ B3I

1465872264. % rddi

Question Number : 17 Question Id : 146587567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The forests of the state of Chhattisgarh fall under two major forest types: tropical moist deciduous forests and the forests.
Options :

1465872265. * mangrove

1465872266. * savanna

1465872267. ¥ tropical dry deciduous

1465872268. * tropical freshwater swamp forests



Question Number : 17 Question Id : 146587567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG T & I, IUBIeadiT 3T quiurdt g 3R I TS &1 T a1 UBRI & SHdid 3Md g |
Options :

1465872265. % B

1465872266. % FdHT (JdN)

1465872267, ¥ IWTdH s Yo Tofardt

1465872268. % JWdicedtd HIS UM dTdl gafad o=

Question Number : 18 Question Id : 146587568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The state of Chhattisgarh is endowed with about varied forest sub-types existing in the state.
Options :

1465872269. * 20

1465872270. * 21

1465872271. ¥ 22

1465872272. # 23

Question Number : 18 Question Id : 146587568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BURIATG I, T H HiSlg AT At a9 IU-USR! ¥ < 3
Options :

1465872269. * 20

1465872270. * 21

1465872271, ¥ 22

1465872272, % 23



Question Number : 19 Question Id : 146587569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which of the following years did the then President of India give the consent for the bifurcation of Chhattisgarh from Madhya Pradesh?
Options :

1465872273. % 1994

1465872274. ¥ 2000

1465872275. % 2004

1465872276. * 1998

Question Number : 19 Question Id : 146587569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ol § 9 forg ol & YRd & 39 IHY & AP A T UG U Baie & fauTe & forg wgafa var ot ot
Options :

1465872273, ¥ 1994

1465872274. % 2000

1465872275. % 2004

1465872276. % 1998

Question Number : 20 Question Id : 146587570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The total of  Garhs (Forts) belonging to the Kalachuris formed the basis of naming the region as Chhattisgarh.
Options :

1465872277. ¥ 36

1465872278. * 32

1465872279. * 29

1465872280. * 26

Question Number : 20 Question Id : 146587570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

FAgRAl A TERa P TTg (fpah) 39 & &1 T BTG 1@ & o SR s |
Options :

1465872277. ¥ 36

1465872278. % 32

1465872279. # 29

1465872280. # 26

Question Number : 21 Question Id : 146587571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which master craftsman from Chhattisgarh crafted Gadwakam, the ancient Indian art of Bronze metal casting?
Options :

1465872281. * Narmada Sonsai

1465872282. ¥ Jaidev Baghel

1465872283. * Anand Singh Shyam

1465872284, # Belgur Mandavi

Question Number : 21 Question Id : 146587571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG & [P IR 7 B YT D1 galls &1 U HRA Hal gl I (Gadwakam) dIR W12
Options :

1465872281, % THaI YIS

1465872282, ¢ ST g9

1465872283, % 3fHq g ™

1465872284, ¥ J@R Higdl

Question Number : 22 Question Id : 146587572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which among the following states is termed as "Rice bowl of Central India"?



Options :

1465872285. * Andhra Pradesh
1465872286. ¥ Chhattisgarh
1465872287. % West Bengal
1465872288. ¥ Maharashtra

Question Number : 22 Question Id : 146587572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafafad o I f5g Isu o1 "Heg YR &1 A19d BT HeRT" el SIdl 82
Options :

1465872285, % 31 U

1465872286. ¢ BTG

1465872287. % U &I

1465872288, % HERIY

Question Number : 23 Question Id : 146587573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As per FSI 2019 report, out of 41.33% of total forest area in Chhattisgarh, nearly ~ is considered under moderately dense forests.
Options :

1465872289. * 3%

1465872290. * 9%

1465872291. ¥ 23%

1465872292. # 50%

Question Number : 23 Question Id : 146587573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

THTHSATE (FSI) 2019 B RUK & AR, SURNIG H $d a1 &7 & 41.33% H I ATHT DI HETH I SHTQ! b Sfcid JTT oIl g |
Options :




1465872289. # 3%
1465872290. # 9%
1465872291. ¥ 23%
1465872292. % 50%

Question Number : 24 Question Id : 146587574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the WRONG match from the following options with respect to Districts and Divisions of Chhattisgarh.
Options :

1465872293. ¥ Jashpur - Bilaspur division

1465872294, # Sukma - Bastar division

1465872295. # Dhamtari -Raipur division

1465872296. # Balod - Durg division

Question Number : 24 Question Id : 146587574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BURATG & foral SR FHIT & ey # Fgfeiad fawedl & § e gafea sagu|
Options :

1465872293, ¢ SIRIQR - TSGR JUAT

1465872294, % b HT - TEIR AHTT

1465872295, % YHART - TAYR HHNT

1465872296, % FTAG - G GHRT

Question Number : 25 Question Id : 146587575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Guru Ghasidas National Park is announced as a reserve for which one of the following animals by Chhattisgarh government November
2019?

Options :
1465872297. ¥ Rhinoceros



1465872298. # Elephants
1465872299. ¥ Tigers
1465872300. * Hippopotamus

Question Number : 25 Question Id : 146587575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TS OGN BT ST B AdeR 2019 H BTiTg IRPR gRI FHafciad o 9 fbg ugy & fog Wiz 9t fasar mar g2
Options :

1465872297, % g1

1465872298, % BTt

1465872299, ¢ dTY

1465872300. % GRUTS GTST
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Question Number : 26 Question Id : 146587576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the odd option from among those given below.



Options :

1465872301. * Plotter
1465872302. ¥ VDU
1465872303. # Printer
1465872304. ¥ Scanner

Question Number : 26 Question Id : 146587576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I feu 7T fasw el & T 3Rivid fawed &1 989 Pifvu|
Options :

1465872301. % wiicx (Plotter)

1465872302. ¥ d1.81.g, (VDU)

1465872303. # fUieX (Printer)

1465872304, ¥ THR (Scanner)

Question Number : 27 Question Id : 146587577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The VGA monitor port enables you to connect an external monitor to your laptop. What does the term VGA stand for?
Options :

1465872305. ¥ Video Graphics Array

1465872306. # Virtual Graphics Array

1465872307. # Video Gigabyte Array

1465872308. # Virtual Gigabyte Array

Question Number : 27 Question Id : 146587577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

RN (VGA) AR UIE T 31T ST AR BT 3UH AUSTT ¥ Hde HR Tdhd o | VGA (A1.5.T.) T J01 =Y FT 82

Options :




1465872305. ¢ Video Graphics Array (A1 d] ATha TY)
1465872306. # Virtual Graphics Array (aﬁ&la Tt QB{)

1465872307. ¥ Video Gigabyte Array (d1fad! 1HTETEE UY)
1465872308. # Virtual Gigabyte Array (T93(d 1TERE WY)

Question Number : 28 Question Id : 146587578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are FALSE?

(1) The trackball is a preferred input device for CAD/CAM applications.
(i1) The light pen uses a photoelectric cell and an optical lens mounted in a pen-shaped case.

Options :

1465872309. * Only (i)
1465872310 * Only (ii)
1465872311, * Both (i) and (i)
1465872312. ¥ Neither (i) nor (ii)

Question Number : 28 Question Id : 146587578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FrafifEd 3 9 &1 ¥ YT 3RTd 82

(i) SHATd, CAD/CAM TWHHRH (3FIVART) & forg sifdmfa gge fearza §1
(i) ATZe O H BIcigdfaesd I 3R U PR a1 & H &1 P d o Ugad sidl o |

Options :

1465872309. # Hdd (i)
1465872310. ® 5dd (ii)
1465872311, % (i) 3R (ii) a1
1465872312, ¢ 941 (i) T &1 (ii)

Question Number : 29 Question Id : 146587579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is TRUE?

Options :

1465872313. ¥ SRAM stands for synchronous random access memory.

1465872314. ¥ Both SRAM and DRAM are forms of permanent storage memory.

1465872315. ¥ DRAM uses an external circuitry to periodically refresh storage charge to retain the stored data.
1465872316. # SRAM uses an external circuitry to periodically refresh storage charge to retain the stored data.

Question Number : 29 Question Id : 146587579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fofifad 7 3 o1 91 HyT 9 &7

Options :

1465872313. % SRAM &I ‘IUfW "synchronous random access memory (wmw ﬁthﬁ)" gl

1465872314, % SRAM 3{R DRAM Gl & IR (IRAMC) WS AR & U ¢ |

1465872315. ¥ DRAM ¥ TUfed S¢T &I QR 1@ & ol Try-THg IR LRS! 91Sf &I T2 & & forw a1ey Afdhet ugad glar g
1465872316, % SRAM T TUfed ST B! YRI&T 3@ & oI THI-THT UR LIRS dTo! I AT H3 & (ol STel Aire) e gl |

Question Number : 30 Question Id : 146587580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid type of processor?
Options :

1465872317. ¥ TPIC

1465872318. # CISC

1465872319. # RISC

1465872320. # EPIC

Question Number : 30 Question Id : 146587580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



faferiad 7 ¥ o9 I MR &1 38U/H UhR T8} 82
Options :

1465872317. ¥ TPIC

1465872318. # CISC

1465872319. # RISC

1465872320. ¥ EPIC

Question Number : 31 Question Id : 146587581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the below statements?

(1) In EPROM, the letter 'P' stands for 'persistent'.
(i1)) EEPROM is electrically erasable.

Options :

1465872321. # (i) - TRUE; (ii) - TRUE
1465872322. % (i) - TRUE; (ii) - FALSE
1465872323. ¥ (i) - FALSE; (ii) - TRUE
1465872324. % (i) - FALSE; (ii) - FALSE

Question Number : 31 Question Id : 146587581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFufefead & 9 &F 1 fowey 9 T U Y= &1 Iaar o1 gatay 9ol Hdr 82

(i) EPROM H 'P' 3{&R &1 Y01 ¥ ‘persistent (R C) BT 5|
(i) EEPROM, ﬁ?{ﬁ?ﬁﬂ U3 fieq amg (electrically erasable) BBl

Options :

1465872321, # (i) - 9; (ii) - 9
1465872322, # (i) - ¥d; (ii) - 3™
1465872323, # (i) - 3UJ; (ii) - I
1465872324, # (i) - 3, (ii) - 3T




Question Number : 32 Question Id : 146587582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is an object-oriented programming language?
Options :

1465872325. % C

1465872326. % Pascal

1465872327. # Fortran

1465872328. ¥ Java

Question Number : 32 Question Id : 146587582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ol # 3 o @ sffssae-3iRyes Ui I (of7ae) 82
Options :

1465872325. % C

1465872326. # Ul

1465872327, ¥ BRCH

1465872328. « SIIdl

Question Number : 33 Question Id : 146587583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the columns and select the most appropriate option from those given below.

a) Python

1) Logarithmic language for programming scientific computation

b) Algol

i) An interpreted, high-level. general-purpose programming language

¢) VBScript

ii1) Document-oriented database program

d) MongoDB

1v) Active scripting language developed by Microsoft

Options :

1465872329. ¥ a-ii; b-1;c-iv; d - iii
1465872330. * a-i;b-1ii;c-iv; d-iii
1465872331. * a-ii;b-iii;c-iv;d-i
1465872332. % a-ii;b-1; ¢ -iii; d -iv

Question Number : 33 Question Id : 146587583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HioA! 1 Heme & AR A e 71w Raedt & § gaw 39gaa [@Fed &1 =07 H{|

a) sy (Python)

i) SrenfaeT wEfefhe FFoggea & v agEuEhT s (Logarithmic

language)

b) ¥e=Trer (Algol)

i) SFeTYLE, -9, THT-TASHS FATHT 887 (f7a=)

c) drar. FFee (VBScript) | i) sFaeH-37H@ (STFgHe-HINTEs) Seey SaH

d) #AMEET (MongoDB) | iv) ASHATFE T faa viFes EFfeT amr (sf==)




Options :

1465872329. ¥ a-ii; b-1i;c-1iv; d - iii
1465872330. #* a-i;b-1ii;c-1iv;d -iii
1465872331. #* a-ii;b-iii;c-iv;d-1i
1465872332. ® a-ii;b-1;c-iii; d-iv

Question Number : 34 Question Id : 146587584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the file extension for a C++ source code file?
Options :

1465872333, % c++

1465872334. ¥ cpp

1465872335. % cp

1465872336. % .ccp

Question Number : 34 Question Id : 146587584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

C++ N B8 WIS & [T BId Tac I &1 62
Options :

1465872333, % c++

1465872334. ¥ cpp

1465872335. % cp

1465872336. % .ccp

Question Number : 35 Question Id : 146587585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is SQLite?

Options :

1465872337. ¥ A C-language library that implements a small, fast, self-contained, high-reliability, full-featured, SQL database engine



1465872338. # An object-oriented database system
1465872339. # A database system which does not come under GPL
1465872340. # A network model-based database system

Question Number : 35 Question Id : 146587585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SQLite (THFITET) T 82

Options :

1465872337, ¢ C-HTNT (T11aw)) Teal, Sl BT, o, W-Ffed, S=-fayg-adr, ol favivdrel arel, SQL SeTad $oi &) fehanfad &Rl 8
1465872338. % 3ffsslac-HIRUcs Scray Rer

1465872339, * T8 Sy R, Sl GPL & 3icdifd el 31§

1465872340. # Yedd Alsd YR Sy ey

Question Number : 36 Question Id : 146587586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the columns and select the most appropriate option from those given below.

a) AngularJS i) Structured Query Language

b) SQL if) JavaScript framework

c) C+# i) NoSQL database

d) Apache Cassandra |iv) NET platform-based programming language developed by Microsoft

Options :

1465872341. % a-ii;b-i; ¢ -iv; d - iii
1465872342, # a-1i;b-ii;c-iv;d-iii
1465872343. # a-ii;b-iii;c-iv;d-i
1465872344, # a-ii;b-iv;c-1i;d-iii



Question Number : 36 Question Id : 146587586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FiorAr H1 fFer H¢ AR A e ow wedt & 7 798 39y Reew &1 999

a) TWERSTH (AngularJs) ) TET 99 oW (T F99 oeas)
b) SQL i) STaETfEFce FATS
c) C# iii) ArTEFIUe (NoSQL) sered
d) 3= FEIr (Apache iv) ATSHETTE AT Sefaa NET coiewid 3mnfyg grenfaer
Cassandra) ST (F73)
Options :

1465872341. ¥ a-ii; b-1; ¢ -iv; d - iii
1465872342. ® a-1;b-1i;c-1v; d - 1ii
1465872343. ® a-ii;b-ii;c-1v;d -1
1465872344. ® a-ii;b-1v;c-1;d - 1ii

Question Number : 37 Question Id : 146587587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

refers to the sending of bulk-mail (junk-mail) by identified or unidentified sources.
Options :

1465872345, ¥ Spamming
1465872346. * Snooping
1465872347. * Phishing



1465872348. # Vishing

Question Number : 37 Question Id : 146587587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ST T 31T Wl R Seeh-Hd (Sip-Fel) Vo I Feffd srar g
Options :
1465872345, ¢ W (Spamming)
1465872346. % HUT (Snooping)
1465872347. % ORI (Phishing)
1465872348. % fafRMT (Vishing)

Question Number : 38 Question Id : 146587588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

is the act of secretly listening / interpreting someone else’s private communication or information while data is on its way on the
network.

Options :

1465872349. ¥ Eavesdropping
1465872350. # Spamming
1465872351. # Vishing
1465872352. % Smishing

Question Number : 38 Question Id : 146587588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
, cddh IR ST & Tided dd Uga- 9 Ugd, frdlt o aafad o ot TeR a1 EH1 &1 i &9 ¥ YA/ R 31 H1 HA g |
Options :
1465872349, ¢ @G@fﬁﬂ (Eavesdropping)
1465872350. # W (Spamming)
1465872351. # fafRMT (Vishing)




1465872352, % TRHMRMT (Smishing)

Question Number : 39 Question Id : 146587589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A is a small bit of text or a file that accompanies requests and pages as they go between the web server and browser.
Options :

1465872353, ¥ cookie

1465872354. * blog

1465872355, # crawler

1465872356. # spider

Question Number : 39 Question Id : 146587589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
, BICT IT CRE A1 HI3d g, S 9 TaR IR TR & a1d SFRIT R GBI &1 T A1 Shsdl |
Options :
1465872353. ¢ PPI (cookie)
1465872354, % &IT (blog)
1465872355. % HIAR (crawler)
1465872356. # ISR (spider)

Question Number : 40 Question Id : 146587590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The speed of the fast ethernet protocol is Mbps.
Options :

1465872357. ¥ 100

1465872358. * 1000

1465872359. * 10000

1465872360. * 1



Question Number : 40 Question Id : 146587590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Mg SRAc Ui B Td Mbps Bt 21
Options :

1465872357. ¥ 100

1465872358. * 1000

1465872359. # 10000

1465872360. * 1

Question Number : 41 Question Id : 146587591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A student wants to upload/download files from/to a remote internet server. Suggest appropriate communication protocol.
Options :

1465872361. # UTP

1465872362. ¥ FTP

1465872363. ¥ SMTP

1465872364. # 1P

Question Number : 41 Question Id : 146587591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

DIz B R (RHT) Fexe JaR /4 Bl B SUaIS/SI3TAIS BT dledl & | SUgad TR Weihld &1 J3d ¢ |
Options :

1465872361, % UTP

1465872362. ¥ FTP

1465872363. ¥ SMTP

1465872364, % P

Question Number : 42 Question Id : 146587592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Match the following.

A)BUS 1) Each node is directly connected to the central node (server/hub)

B) STAR |2) A single length of the transmission medium is used on which various nodes are

attached. It can transmit data in both directions.

C) RING | 3) Nodes are connected to each other in a redundant fashion with multiple connections.

D) MESH |4) Every device/node is connected to exactly two other nodes one on either side of it in

closed loop fashion.

Options :

1465872365. ¥ A-2,B-1,C-4,D-3
1465872366. ¥ A-1,B-2,C-4,D-3
1465872367. ¥ A-2,B-1,C-3,D-4
1465872368. # A-3,B-1,C-4,D-2

Question Number : 42 Question Id : 146587592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



= fateg &1 & #{I

A) T§ (BUS) |1) Y& Atz @ 91 Az (@90/Ee) ¥ 57 Ar §

B) TR (STAR) |2) H=RUT ATH HT U& & @ars H1 3930 gar ¢, orwd ffdes s 53 a9 &
Ig art feemat & 2er w=filg & gear B

C) 3T (RING) |3) % FaAaeEl & T A5d Teh gal ¥ Ffaed adie (redundant fashion) &
SERC]

D) RY (MESH) |4) 93 famw/als &% 31 & 37 A1sH ¥ ST &ia g, =it 38 alell 3R &
ag T ¥ (closed loop fashion) & g 2l

Options :

1465872365. ¥ A-2,B-1,C-4,D-3
1465872366. * A-1,B-2,C-4,D-3
1465872367. * A-2,B-1,C-3,D-4
1465872368. * A-3,B-1,C-4,D-2

Question Number : 43 Question Id : 146587593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following operating system is used in smartphone?
Options :

1465872369. ¥ LineageOS

1465872370. * Window XP

1465872371. * Windows Vista

1465872372. # Linux

Question Number : 43 Question Id : 146587593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafafad & @ o a1 TR Rey Wdw=T § Ugad gidT 82
Options :

1465872369. ¥ LineageOS

1465872370. * Window XP

1465872371. ¥ Windows Vista

1465872372. ¥ Linux

Question Number : 44 Question Id : 146587594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Select the correct option that comes in place of the question mark (?).

In Windows 10, To add icons to your desktop such as This PC, Recycle Bin and more: Start > Settings > Personalization > ? > Desktop icon
settings.

Options :

1465872373. ¥ Themes
1465872374. #* Background
1465872375. # Color
1465872376. * Start

Question Number : 44 Question Id : 146587594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR (7) b R W 31 a1 el [ddbed &1 Ig- Hifog|

Windows 10 ﬁ, S%HelT U This PC, Recycle Bin 3R 3 o 3gh g \_Sﬁ?;e[ & ﬁ"l’Q, Start > Settings > Personalization > ? > Desktop icon
settings 3IIFH BT YT T ST g |

Options :

1465872373. ¥ Themes

1465872374. # Background

1465872375. # Color




1465872376. * Start

Question Number : 45 Question Id : 146587595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the TRUE/ FALSE from the following statements.

a)Ubuntu is an application software.
a)If the hardware is the heart of a computer then the software is its soul.
b)An operating system is a collection of system programs which allow the user to run application software

Options :

1465872377. ¥ a) — FALSE; b) — TRUE; ¢) — TRUE
1465872378. # a) — TRUE; b) — TRUE; ¢) — TRUE
1465872379. # a)— FALSE; b) — TRUE; c¢) — FALSE
1465872380. # a)— FALSE; b) — FALSE; ¢) - TRUE

Question Number : 45 Question Id : 146587595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fraferiad Syl H & T8t sryar Teid T 99 Hifei|

a) Ubuntu T Ukefoh2r Wt dTR gl
b) TfS BTSIAR HLR 1 ad &, dl G daR SR Pt AT |

o) TR Rivew, Ried WUT &1 98 TUE BIdT 7, S goR &I TR W adR I & &1 Al UM dxal g |

Options :

1465872377. ¥ a) — TIAd; b) — Tal; ¢) - Tal
1465872378, # a) — &Y b) - aT; ¢) - gl
1465872379. ¥ a) —T[dId; b) — Fal; ¢) - TAd
1465872380. # ) — TAd; b) — TAd; c) - Tal

Question Number : 46 Question Id : 146587596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



After right clicking on the desktop of a Windows 10 system, you can use the "Sort by " option on the drop-down list to arrange desktop items
based on different criteria. Which of the following is NOT a valid sorting criteria?

Options :

1465872381. ¥ Name
1465872382. ¥ Size
1465872383. # Date modified
1465872384. ¥ Date created

Question Number : 46 Question Id : 146587596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Windows 10 RIReH & S¥hcld R IZe [ H & a1, AU fafid AFds] & YR R SWhclT TSR &) Fafyd H- o oY SIU-
T3 Pl TR I a1 (Sort by) [aded BT IUTN HR hd ¢ | FEfiad & & F 91 /=g AiféT AFes T8l 82

Options :

1465872381, % Name

1465872382. # Size

1465872383. ¥ Date modified

1465872384. ¥ Date created

Question Number : 47 Question Id : 146587597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In MS Excel, the “=MIN()” function is used:

Options :

1465872385. # to find the max value in a specified range.

1465872386. ¥ to find the minimum value in a specified range.
1465872387. # to find the lowest negative value only in a specified range.
1465872388. # to find the average of the values in a specified range.

Question Number : 47 Question Id : 146587597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



MS Excel H, “=MIN()” Ta=H &1 IuanT feafe forar Sirar g2

Options :

1465872385, % Ay IS & oY §1 A J1d B & fouw

1465872386, ¢ Ay IS & oY Blel AF J1d B & forg

1465872387, % dd U ol AfEY IS A G SleT BUTHS A JTd B & fau
1465872388, * Ay IS H fauw 71w 4} 71 3Md J1d 1 & forw

Question Number : 48 Question Id : 146587598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Lotus 1-2-3, QuattroPro, Calc, and Oleo are packages.
Options :

1465872389. # Internet

1465872390. ¥ PowerPoint

1465872391, % Text

1465872392, ¥ Spreadsheet

Question Number : 48 Question Id : 146587598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Lotus 1-2-3, QuattroPro, Calc 3R Oleo ol %I
Options :

1465872389. % $IAT (internet)

1465872390. % GidiUisc (PowerPoint)

1465872391, % CRC (Text)

1465872392, ¢ TSN (spreadsheet)

Question Number : 49 Question Id : 146587599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In Ms-Word 2016, Layout tab can be used to specify .



Options :

1465872393, ¥ Headers and footer
1465872394, ¥ Format Text
1465872395, # Insert Table
1465872396. * Border

Question Number : 49 Question Id : 146587599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H, 9-313¢ ¢§ BT IUTNT & WRYBTE H & o fear Sar g |
Options :

1465872393, % T84 Ud Hey

1465872394, ¢ HiHc e

1465872395, # Tdd 3¢

1465872396. % Tiox

Question Number : 50 Question Id : 146587600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In MS-Word, which of the following is NOT a valid paragraph alignment option?
Options :

1465872397. # Center

1465872398. * Right

1465872399. ¥ Bottom

1465872400. * Justify

Question Number : 50 Question Id : 146587600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS Word §, FafeiRad & & &9 91 T 94 T TRTUTH TS [ddbed 8l 82

Options :




1465872397. % X (Center)
1465872398, # 13T (Right)
1465872399, ¢ §icH (Bottom)
1465872400. % SREWHTs (Justify)



